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(a+b)(ct+d)
=N(c+d)
= Nc+ Nd
=(a+b)c+{a+b)d
=ac+bct+ad+bd

(1 (+6)y+2)
=gy+2x+06y-+12

2 (a—3)b+2)
=ab+2a—36—6

(1) (x+7x+4)
=x*+4x+Tx+ 28
=x?+11x+28

(2) (dx—3)Q2zx+1)
=8x%2t+4xr—6x—3
=8x2—2x—3

1) (a—d)c—d)

=ac—ad—bc+bd

@) Qx+Dy—T)
=2xy—ldx+y—T

(3) (x+2)(xz+4)
=x?t+dxr+2xr+8
=xt+6x+8

4) (x—2)(x—3)
=x?—3x—2x+6
=x2—5x+6

(B) (2a+b)a+3b)
=2a2+6ab+ab+3b2
=2a%+Tab—+3b?

6) (Axr—1)3x—2)
=12x%*—8xr—3x+2
=12x2—11x+2

O Aro)G+a)

=3+xr+3r+x?
=3+4x+x?

(2) (z—3)Q2x+6)

=2x2+6x—6x—18
=2x2—18

(1) (a+1)(a—b+2)

=ala—b+2)+{a—b+2)
=q?—agb+2a+a—b+2

=ag?—ab+3a—b+2
(2) @Qx+y—1)(5x—3y)

=2x(52—3y) +y(5x—3y)

—(5x—3y)

=10x? —6xy +5xy — 3y? —5x+ 3y
=10x?—xy—3y?—5x+3y



